Addendum: Derivation of Hj
From (5) and (6) we have
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Put, in general,
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An integration by parts shows that ¢ (u; ji, jo2, j3)
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In terms of the density hi of Hj, this is
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Evaluating I; by parts (noting that the integral in braces vanishes at both © = v/3 and u = —00) gives
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Substituting (B.3) into (B.2) gives
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We evaluate J; by noting again that the integrand involves the density of H;:
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into the definition of J3, obtaining
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Finally, (B.5) and (B.8) in (B.4) give
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Since (as is seen by making the change of variables s = v — u — )
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